0,',16'888%
ELLLY'ELTS
09'082'62¥'2$
G0'662°LEES
1G°0LP' LS

€L°L29'V6ES
8€'1LZ'8LLS
18°209'v1LS
LG5'889'G1L$
08'292°1SZ'L$
81°086'2¥G'GS
CL'¥L99¢ELS
00'80€'6¥1$
GG'L10'6¥88
L9°7L8'16S
1L°0EY'65S

80°0LE'¥9ES
€1°/99'059'}$

00'0L¥'G29$
80'9/6'G62$
91'€68'G0E’LS
2L°2e5'691%
L9'622'¥8$

16'L1¥'L86$
¥8'861 8%
88'069'2¥S'LS
66°9¥6'861$
8€'GZY'82E'ZS
69'1.2°126'9%
82°019'2¥2$

0v'6.9°12%
0L7161'810°L$
0€'609'0Z$
29'616'8E€S

€9'€0¥'SCS

08'¥9¥'0€2$
€L¥E8'L68'LS

00°0L¥'GZ9%
80'9.6°G62$
91'€68'G0E’LS
TL7€5'6918
L9'622'¥8$

L6°L1Y'L86S
¥8'861°8%
88°059°2vS'LS
66'9¥6'861$
8€'GZP'82E'CS
69'1,2°'126'9%
82°019'2¥2S

0¥'649°128
0L'161'810°1LS
0€'609'02$
29'616'8€€S

£9'€0¥'G2S

08'v9¥'0€2$
€L¥€8'/68°LS

0L'/8E'VLG'LS
18'L¥P'695$
9L'ELL'IEL'ES
LL'1€8°905$
81°00L'96%

0L'6¥0'Z8E"LS
2T0L¥'9218
69'€52°252'28
95'GE9'V1TS
81'€69'6.5°€S$
L81STYIV'TLS
0¥ ¥8Z'6.LE$

0¥'286°0L1LS
GZ'€91°L98'LS
L6'LLY'TLLS
€€°05€'86€%

€9'€0v'GZS

88'¥EY ¥65S
98'105'8vS'ES

00'88.'8v€S
L8 LYY 0LLS
00029'%1L$
LL1€8°901$
81°00L'9.8

0L'6¥0°2YLS
270.L¥'9218
GZ'680'8v6%
9G'GE9'8L1S
8€'¥S1°0€S
L8°066'€6L'LS
0¥’ ¥82'6.2%
0v'L86°G6%
GTEIL'LYT'LS
L6LLY'TLS
€€'05€'8LES

€9°€0¥'G2S

¥9'10G°'€€€S
29'891'2LE'CS

0,'66G°G91°LS
00°000°66€$
9L'€G6°91L'€ES
00°000°'00¥$
00°000°02$

00°000'0¥2°L$

¥¥'891°60€°L$
00°000°9€$
08'8€5'6¥5'€S
00'192'0L9'01%
00°000'00}$

00°000°G.$
00°000°029%
00°000°001$
00°000°'02$

pZ'€ee’19TS
YZ'EEE9LL'LS

SQUOIDUBAQNS A SOIpISqNS

001/qnd J0}0as [9p 0}Sal |B SeIdudIajSuel |

092ijqnd 10}03s |e sauoloeubise A Seusajul Selualdjsues |
sepnAe sejo A soipisqns ‘sauoideubise ‘seioualajsuel]

sa|esauab soInBS SoN0

S9|BIDIO SOIDINIBS

SO21jeIA A OpE|SEl) 9p SOIDIAIBS

pepiolgnd A |BID0S UOIDBIIUNWOD 8P SOIDIAIRS

UQIOBAIBSUOD
A ojusjwiusjuew ‘uooesedal ‘ugQIoe|ejsul ap SOIIABS

$3|e10I3W09 A SOUEBJUEq ‘SOISIdUBUY SOIDINSS
SOIDIAIBS SO0JJ0 A SODIUDI) ‘SOOYIIUSID ‘SBJBUOISa}0Id SOIDINBS
OJUSIWEPUSILIE BP SOIDIAISS
SO0JISEq SOIDINIRS

sojesauab soldinIag
S9I0UBW SOL0SII. A SALOIDOR)SI ‘SBJUBIWEBLISH
pepunbas eled soujsiuiwns A sajeuajep
sonipodap sojnoiue A uoioasjoid ap sepuaid ‘SOdUB|q ‘OUBNISSA
SOANIPE A Sajueduqn| ‘sa|qlsnquo)
0110)e10qE] 3P A SODIINJIBLWIE) ‘SODIWIND SO0}ONPOId
ugioesedas ap A ugIOONIISUOD 8P SOINDILE A SajeLBIe
uogloeZ||eI1aWwod A uoanpoid ap sajeusjew A sewud seusjep
Sol|Isua)n A sojuawiy

$9|e1040
SOJN9IUE A SOJUSWINJOP 8P UQISILLS ‘UQIORJSIUILPE 8p Sa|eUale|

soJisiuiwns A sajeuajep
s0olignd $aJ0pIAISS B Sojnwiisa ap obed

- - - - - - SBUOISINBIY
0006G'LS 00°0S2°€S 00°062°€$ 00°008'¥$ - 00°008'v$ SBOIWLQU02? A s3je100s sauoiejsald seso
96'16G'6059 $2'299'v1LLS ¥2'299'vLLS 0ZvievezLs 0026L'22% 0z'zey'Loz'Ls |ero0s pepunBag
98'L¥6'¥Z9% 69¥98'81$ 69¥98'8L$ GG'908°'¢€¥9% 10€82'6$ $G'€25'v€9$ sa|e10adsa A $|euOioIpe SBUOIDBIBUNWDY
06'L¥6°L22'C$ G0'9€9°'09¥'G$ G0'9€9'09¥'GS G6'€85'889°LS €T6L6'V.E-S 81°€95°€90'8% OLIO}ISUBJ} JBJORIED 3P [BUOSISd B SBUOIoBIBUNWSY
z8'29z'zeLs 81°G¥6'L09'L$ 8L'G¥6'L09'LS 00'802'¥2E'2S = 00'802'¥2€'2$ ‘sjuauewlad JajorIed ap |euosiad |e sauoloeIBUNWSY
¥S'¥52'980'¥$ 91'8G€'66L'LS 91°'8G€'66L°LS 0,219'G88°L1LS 22v06'2vE-$ 26'916'822'C1$ sdjeuosiad soO1d1A19g
r-¢)=9 S v Z+1=¢ 4 3
S2U0I29NPaY
oldiviafeqng opebed opebuaaaq OpeIyIPON | sauojoeldwy opeqoidy ojdasuo)
sosaibg

810Z 2p aiqwiandas ap O |e 049U 3p | |3p

(o1dasuoy £ ojnjiden) ojsen jap 03alqQ 10d uoideayise|n
sosai63 ap o)sandnsaid [ap 0121948(3 j9p 0d1jijeuy ope}s]
“19A‘uBWweo0Yy D ap oididiuny




P
mmm.ﬁm .mmy.a-
nies Bugks 13

a

nLEDP

_ma_u_vﬁ‘ n o2IpuIg

ofau) seloy ouijsoIBW ojuegD

b202-
~ P
z.°160°228'929 82'€TY LYY LES 8z'cTy'Lye'LeS ; E { : .wb.uwm.n» 0L L6V LEL LSS
- - - - .,..m.h " ) S3JOLBJUB S3|BISY SOIIdIale ap sopnapy
- - - - e - ), soJaueuy sohody
- - - - - - YVIDNIAISTHd seinpaqoo Jod 0js0)
s 6£'656°L$ 6£°G56'LS$ 6£'656°L$ 6€'656°L$ = i, e21qnd epnap ej ap Sojses)
- - - - - - eolignd epnap e| ap SBUOISIWOD
L0'€E8CCLLS 669122918 66°9LL°L91% 00°000°'0¥€$ 00°000°00L$ 00°000°'0¥2$ e21|qnd epnap e| ap sasauauj
8G6'vZ1'€¥8S 90°'6€0'8LES 90'6£0'8LES P9€91°12Z'LS = ¥9'€91°L2Z'LS e01|qnd BpNap e| 8p UQIoRZILOWY
r-¢)=9 S 1 4 Z+=¢ 4 13
S9U0120NPaY
o1d1d19feqng opebed opebBuaaaq OpedIPOW | ssuojdeldwy opeqoidy (L ERTIT Y
sosaiby

810Z op aiquiandas ap (¢ [ 0Jaus ap | |8p

(oidasuoy A ojmiden) oyseq jep 03alqQ iod ugrdeayise|d
soseaibz ap oysandnsaid [ap 01912193 [ap oonijeuy opelsy
I8 A‘uBWIBO0YD 8p ordidiuniy




66209 GLO' LS

8€'066GLL'ELS
8€°066'GLL'ELS

Py LLLESSS

00°L£5'8¥9%
66'162'9/2'818
66'88.'¥26'8L$

Yy LLL'EGSS

00°2£G'8¥9%

66'16G2'9.2'818
66'88.'v26'81S

€0'6L1'695°1$

oo.nmm,mvow
LE'TYT'T6ELES
LE6LL'0¥0°2ES

6£G56'L01LS

£1°G29'90Z°1$
L1°291°GG8'LS

PIEIL IOV LS

0Z'L19'G81°0€$
02'L19'G81°0€$

ealqnd epnag
SOIUAAUOD
sauoepody
sauoleddiued
sauoloepode A sauoioedidiued
sajeloadsa sauoloebols seljo A serouabunuod esed sauoISINOId
SBJaIoUBUY SBUOISIBAUI SBIIO
sobBojeue so1)0 A SOjepuBw ‘SOSILIOJIBPY U SBUOISISAU|
sowe}said ap ugIsaduo)
salo|eA A sojnyi} ap eidwod
|eyded ap sauoedoued A sauoidoy
SeAI}onpo.d SapepIAI}O. 3p 0JudWwo} |9 eled SaUOISIaAU|
sauoisinoid sesjo A seialdueuly SaUOISIdAU|
0)JuaWo} ap Sauo1de A soAnonpold sojoahkold
soidoid sauaiq ua ealgqnd ei1q0
0211qnd oruiwop ap saualq ua ealqnd eiqo
ealqnd uoisianu|

u 68l 9% G8'L¥L 9% S8 LyL'9% G8'L¥L'9% 5 sa|qibuejul SOAOY
L - = - - - sa|ganwiul saualg
- - - - - = $02160]01q SOAROY
2 00°000°'059$ 00°000'059$ 00°000'059$ 00°000'059$ < sejuaiwesay A sodinba sonjo ‘eueuinbepy
R = " S - - pepunbas A esuajap ap odinb3g
02'¥.8'LLSS Z1'9.9'G0LS 21'9,9'601$ Z€'065°LL9% 2€'055°LL9% o apodsues} ap odinba A sojnoiyap
. . - - = - ouojeloqe; ap A 0d1paw |ejuawnisul 8 odinb3
- = - - - - oAealnal A jeuoroeonpa odinba A oueliqop
e 0€°0LL'€9ES 0€'0LL'€9€ES 0€°0L1'€9€S 0E€0LL'ELLS 00°000°'052$ uoessiuipe ap odinba A oueliqo
02 ¥L8'LLSS L2'886'PCL°LS L2°886'¥CLLS L¥'298'969'LS L¥'298'9PY'LS 00°000°'052$ sa|qibuejul 3 sajganwu ‘sajganw saualg
~ s . . - - JO1I3)XD |B Seloualdjsuel ]
" = c - - - soAljeuoq
- 2 . 2 - - [e100s pepunbas e| e seloualajsuel |
i s g = - - soBojeue s01j0 A SOJepuUBW ‘SOSIWODISPY B SBIOUBISJSURL |
ks 5 - - - - sauoioe|ign( A sauoisuad
0,°,16'888% 00°04¥'G29% 00°0L¥'G29% 0L L8E'VIG'LS 00'88L'8¥€S 0,'665G91°L$ s9|e1o0s sepniy
(r-¢)=9 S v (Z+1)=¢ [4 I
sauoldInpay
ojafdsafagng opebed opebuaaag Ope2yIPON | ssuooeldwy opeqoidy ojdasuo)
sosaib3y

810Z op aiquiandas ap (g |e 04aU3 8p | |9p

(o3desuog A ojnyden) ojses jap 038lqQ Jod ugioedyIsE|)
sosaib3 ap ojsandnsaid |9p oid1213[3 [op 0diijeuy opejsy
“J9A‘uewea0Y) ap owdidunpyy




